4 M2 Antenna Systems, Inc.
Mo d e | No: 402CPEPE

ANTENNA SYSTEMS, INC.

SPECI FI CATI ONS:

Mo d el 402CP42 Il nput Connec.t.ariNO Femal e oth
Frequency..Range4d00 To 408 MHzZPower Handl.i.ng.600 Watt s

S C I N N 18. 7 dBi Boom Lengt.h../..Ri450 /-1180to 1
Front t.o..bhack...16.2 dB TypicaMaxi mum El ementld4l gt h

El I i p.f.i.Cointiyo.. 1.5 dB TypicalTurning ..Radi.us.2.1480

Beamwi d.t.h................ 23A Circular St acki ng ..Di.s.t.a.n7c4ed

Feed .f.y.p.€o.. Fol ded Dipol e Mast .Si.Z.€.. 1-1/ 20 to 20 No
Feed | mpedan.c.e.50 Ohms Unbal aMicnedd ar ea ..[...SurlviSwgal Ft . [/ 10
Maxi mum MSWR.....1.5:1 Max Wei ght /..Shi.p..Wt3. Lbs. / 18 L

*Subtract 2.14 from dBi for dBd
FEATURES:

The 402CP42 is a practical sized, y e hi gh perfor manc

t
t

tern The pattern is important in order o match the ante
This antenna is ideal for satellite work but is also ekc:é
tropo DX.

The CNC machined dri verni red esnealte dnoadrud ewd st WOer t i gther i «
peak performance. I nternal conaget sdl aconengapstlhat ed eianh ¢
power handling.T6l hreo @3 /€ll6edmesmOtésl are centered to minimize |
|l ators are UV stabilized and | ocked in place with stainl

for the boom | €Ag2BP4R2hat's the M

M2 Antenna Systems, Il nc. 4402 N. Selland Ave.
Tel : (553873 4B&x : -3(055599 )We4h3:2 www. m2i nc. com
E2018 M2 Antenna Systems Incorporated?5/10/18

REV A



402CP42 ANTENNA MANUAL

TOOL REQUI RED FOR ASSEMBLY: screwdriver, 11/32 nut dr i v
wrenches, measuring tape.

Not e: | f mounting ant efinaméa owiab hattae n dkair td, H i n
applications) it i s i-mpaceamtoupbi hgsbalkb tbeafmtenn
Refer-Framd @o@ndack drawings for placement and more ir
ASSEMBLI NG THE HORI ZONTAL ELEMENTS
l.Lay out the elements by fAHO I ength and position as sho

(longest) el ement. Bal ance it on your finger to find r
1/ 26 off center. Push the el ement through the holes af
snugging it up into boom. DO NOT BOTHER CENTERI NG the
the stainless steel shaft retainers yet. It i s easier
boom.

2.1l nstall the 3/1606 rod DRIVEN ELEMENT as you did the r
DI RECTOWRSt.e t hat the Director El ements do not consi st e
front, so pay close attention to |l ength and position.

3.Now begin centering the el ements. Use a tape measure t
on each side of the boom. Once you have al/l the el emei
rear comparing each side. Look for any obvious
di screpancies and correct if|] found.

4.Stainless steel SHAFT RETAI NERS 1l ock t he el ement s i n
pl ace. They should always be used for per manent and |
term antenna installations. For portable or temporary
button insulators are adequalte for holding the el ement
the retainers may be | ef't of f . To install the stainl
SHAFT RETAI NERS, use thumb and forefinger to holld the
retainer over the end of t he—PUSH TUBE 38" x- 3" t
supplied in the kit), internal fingers on retainer di
tube. HOLD THE ELEMENT FI RMLY TO PREVENT I T FROM SLI
retainer onto the el ement end and continue wuntiighhtd gt a
clamped up against opposite button insulator wild./l hel p
too far, remove el ement from boom, push retainer compl
retainer to the opposite side of the element. Continue

5. MoHIOWR| ZZGWNEDRLVEN ELEMENT BLOCK / RODOMSSEWMBLYobm ubke
sing32 ®88/4" screw. Orient the block with the two balun

6.l nstal32 txhel/840 set screwgopintsempmpal ed)]l émtbedadhe SHORT

|
bars onto the 1/ 8" Driven El ement BlRPac«ki tRiodrs tame ESher t3i
according to di Aehghohhshbats with each other and tight

ASSEMBLI NG THE VERTI CAL ELEMENTS

Not e: The vertical el ement set is shifted forward on
bet ween el ement planes, improving circularity and ease
7. Repeat steps #2 through #5 for the Vertical el ement

and spacing.

I NSTALLATI ONVBORTIT@G®RI VEN ELEMENT BLOCK DETERMI NES THE
THI'S ANTENNA. THE ORI ENTATI ON OFRIMTGHET BHAKK CEIORCWRHACRI T
SHOWN ON THE DI MENSI ON SHEET AND DRAWI NG AND DESCRI BED



402CP42 ANTENNA MANUAL

8. Viewed from the rear of the boom (rearmost Refl ecto
Bl ock mounts to the RIGHT hand side of the boom with t
Secur e -3wi tth/ 48 screw. Install the Shorting Bars as in st
9. Before installing the Baluns and Matching [/ Phasi |
connectors, with the black Neoprene face of the nuts f a
El ement Blocks and Junction Block as shown on gletDwg (
using/ 1" end wrench. Once the connectors -arghteéeghtir il
against the face of tdven totoyh he clt/ 2ros e(nar wtrieqittthe n A |l ot o]
Depending on model and polarity, the Vertical bal un may
balun coax wuntil it is close to the boom and secure wit
matching / phasing harness coax with cable ties. Ties sh

, [

-h z JUNCTI ON BLOCK

SCREW328 X/ 40

PHASE LI NE
1/ 4 WAVE

D. E. rocC BALUN‘i
SCREW328%®/¥0, SS ;

@

=

10. Use good quality coax and fANO connector for your fee
connector on Junction Block, to provide stress relief. £
end of the boom and the reattachment point (at | dast 12
notoute feedline to boom to mast plate as exiting antenn
11. The boom to mast plate is normally mounted to the bo
significant weight it is best to have it attached and f a
pl at e Usdot we ahdUt he stainless nuts and | ock wa/s2hoer s
and DdDolWs (and stainless steel nuts |/ | ock washer-s) ar e
CONDUCTI VE mast or cross boom.

THI'S COMPLETES THE ANTENNA ASSEMBLY.
CAREFULLY MANUFACTURED BY:
M>ANTENNA SYSTEMS, | NC.

4402 N. Sell and Ave., Fresno, CA 9372

(559)8 ABR F-aR59432
666 DYHAPITODRYSEAXYHAYODO2Y



http://www.m2inc.com/
mailto:sales@m2inc.com

1

402CP42 INSTALLATION TIPS

The 402CP42 is a circular polarized antenna and create
TERI ORATES SI GNI FI CANTLY i f it is mounted on a met al
crossboom o€OMDYCNIOWE material must be used. Fiberglas
and weather resistance. Mount the 406CP42 so that el en
rial (mast, tower, feedline, etc.).

Recommended feedlines, in order of preference:

Andrews or Celwave 1/ 20 hardline

Ti mes8 FoMr Bel den 8214
Try to keep the cable run to under 100 ft. to prevent

To maintain proper phasing when stacking two or mo
Driven El ement Blocks. DO NOT MOUNT I N MI RROR | MAGE. S

tances. For more detailed stacking information contac
M ANTENNA SYSTEMS, | NC
4402 N Sell and Ave
Fresno, CA 93722
(559)8 #ARBR F-a® 59432



http://www.m2inc.com/
mailto:sales@m2inc.com

402CP42 DIMENSION SHEET

REAR OF ANTENNA

ELEMENT SPACING BOOM SECTION #1 ELEMENT LENGTHS
HORIZONTAL 1" X 0.058 X 44-5/8" HORIZONTAL
0 — 0
JE;r-—wrxlcmom BLOCK ASSEMBLY
SCREW, 8-32 X 1-1/4" SS
6.000 - +H ) 14.375
REFLECTOR
5.000 | |
SHORTING BAR DIM ’— —‘
=
11.250 g] de Ol IS 13.250
VERTICAL T DRIVEN ELEMENT VERTICAL
13.250 J 14.375
SET SCREW, 8-32 X 1/4" SS
16.000 : 4 || - 13.313
DIRECTOR #1
18.500 Hff;’c‘ \ 13.250
5.000 D.E. BLOCK ASSEMBLY
SHORTI NG BAR M SCREW, 8-32 X 1-1/4",SS
23.250 e 13.437
24.375 - ) ) 12.9375
] DIRECTOR #2
s‘\
EYEBOLT HOLE
31.625 ) 12.9375
34.062 - - 12.750
DIRECTOR #3
41313 © 12.750
44.625 L

NOTE: DRI VEN ELEMENT BLOCKS SHOWN POSI TI ONED FO



402CP42 DIMENSION SHEET

REAR OF ANTENNA

ELEMENT SPACING BOOM SECTION #2 ELEMENT LENGTHS
HORIZONTAL 1-1/4" X 0.058 X 50-7/8" SOE HORIZONTAL
0 — 0

®
o SCREW, 8-32 X 1-1/4",88
3.563 — - 12.688
DIRECTOR #4
VERTICAL VERTICAL
10.562 ° 12.688
15.375 - 12,562
DIRECTOR #5
22625 o 12562
27563 - 12.437
DIRECTOR #6
34.813 o 12.437
39.937 - 12.375
DIRECTOR #7
47.188 ° 12.375
]
@

50.875 —




402CP42 DIMENSION SHEET

REAR OF ANTENNA

BOOM SECTION #3

ELEMENT SPACING 1-1/2" X 0.058 X 56" SBE

ELEMENT LENGTHS

HORIZONTAL HORIZONTAL
0 ] 0
L}
&-=—GCREW, 8-32 X 1-1/4",8S
4.562 L " 12.313
DIRECTOR #8
8.000
BOOM TO MAST
VERTICAL VERTICAL
11.812 o 12.313
17.313 I - 12.500
DIRECTOR #9
24563 © 12.250
30.250 I - 12.188
DIRECTOR #10
37.500 © 12.188
43.375 - 12.125
DIRECTOR #11
50.625 © 12.125
—
&= SCREW, 8-32 X 1-1/4",88
@

56.000 —




402CP42 DIMENSION SHEET



